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POS PLAYER +/- CLUB TOT OUT IN POS PLAYER +/- CLUB TOT OUT 1IN POS PLAYER +/- CLUB TOT OUT 1IN
1 8 & g & +4 MECcC 76 40 36 41 K 7 B th +17 MECC 89 47 42 81 JI| = 4% — +27 A= 99 50 49
2 h J|| B KX +4 A= 76 37 39 42 2 H — ¥ +17Ao= 89 47 42 82 75 F i +28 LANEER 100 55 45
3B K = 44 ES 76 37 39 43 || K& B +17 BHiER 89 47 42 83 B & 4\ T +2879307¢ 100 46 54
4 kX 7 F sbB +6 LAVER 78 38 40 44 g H P Z +17 HEE 89 46 43 84 £ W E Yt +20 EES 101 52 49
51E F £ B +7 LAYER 79 41 38 45 g 18 B ) +17 BliCC 89 46 43 85 & B FH A +31 ARS 103 51 52
6 I Fk B +9 LAvER 81 42 39 46 K N @ Ak +17 BEEE 89 46 43 S EF M B3t fBLlucc
7 1 B\ % A +10 BlCC 82 43 39 47 55 W = +17 EES 89 45 44 R BH K RES
8 L5 1H fg K +1i1l LAVER 83 44 39 48 B A B R +17 ERE 89 45 44 XG5 =R I5F3CC
9 I A H — +11EHEE 83 43 40 49 = K #f — +171BFICC 89 44 45 X O PN LAYEER

10 #fF 5 B +11 LAVEE 83 41 42 50 N B OE +18 = 90 51 39 X B H A& HIES

115 H# 8 1) +12 M@ECC 84 46 38 51 = Kk X +18 EEE 90 49 41

12 37 B 5 = +12 ElICC 84 45 39 52 Pa] ZB J¢ $ +18 IBFICC 90 48 42

13 4t & & & +12 1BFICC 84 43 41 53 £ BF  H # +18 FES 90 46 44

14 p] =p ¥E B +12 MECC 84 42 42 54 B ¥& 5 T+ +18 #IFRCC 90 45 45

15 { & =2 B +12 FEEE 84 40 44 55 4 [0 Z 1 +18 AoE 90 43 47

16 KX 7 ffi — +13 1BPICC 85 45 40 56 3A] BF = K +19 BILCC 91 49 42

17 7 Af ZE X +13 flFFCC 85 45 40 57 € + & IFE B| +19 Blcc 91 48 43

18 kK B £ 4 +13H@Es 85 43 42 58 15 E ¥ £ +19 BES 91 48 43

19 F fB& & — +13 AEfER 85 42 43 50 H @ I{E = +19 LAVER 91 48 43

20 2 H B +13 = 85 41 44 60 i7 HH {2 {& +19 fmCC 91 47 44

21 = K = ZE +14 LANEBE 86 45 41 61 £E 32 f 3\ +19 153w0 91 47 44

2 8 H Ty B +14 Bo= 86 44 42 62 & [E B — +19 LAVEE 91 46 45

23 K % E +14 HES 86 44 42 63 - K 5= 4 +19 = 91 46 45

24 5 M 3\ — Bp +14 fHFRCC 86 40 46 64 A H =5 £ +20 FERE 92 49 43

25 h 7§ E — +15 f@cCC 87 46 41 65 /N ¥) FI L= +20 #HFFCC 92 48 44

26 8 O @ A +15 LAVEER 87 46 41 66 {f B @ 2z +21 filfiCcC 93 49 44

27 JIl &£ ¥ BR +15 =TI 87 46 41 67 ¥ [ B A +21 FufER 93 48 45

28 &5 8% B B +15 filficC 87 45 42 68 BE A 5 & +21 mECC 93 45 48

297 N F — +151973w0 87 45 42 69 I A HE Z +21 EES 93 44 49

30 F £ B ¥ +15LAVER 87 45 42 70 & IF 5 +22 AES 94 48 46

31 # H  F L +15 HES 87 42 45 71 Kk F | X +22 LANEBE 94 47 47 (par:72.6539%yard)
32 0 B E & +15 WECC 87 40 47 72 B 17 — th +22 EES 94 46 48 FHE:EBE B ITILJH S
33 0\ Il BY B +16 FEEE 88 49 39 73 A & & +23 A0s 95 52 43

34 i K IE £ +16 LAVER 88 47 41 74 H B B i +23 ElCC 95 49 46 B B: F Bk 31 £ 03 8 14 H
35 I A B = +16 LAYER 88 46 42 75 75 B £ {- +23Elcc 95 48 47 % Fh: M h>bU-=-49357
36 B & fi#g K +16 @ECC 88 45 43 76 R EHEE +23EES 95 46 49

37 ¥8 B R® L +16 fHFRCC 88 43 45 77 8% B B B +24 18ricC 96 49 47 mREER BB B
38 855 A B {Z +16 Ao=E 88 43 45 78 K #¥ iz +25 IBFICC 97 47 50

397 B E ZE +16 LAVER 88 42 46 79 3B B 3, & +26 Aoz 98 47 51

40 | O Z= & +16 HEE 88 41 47 80 B M B — +27 AES 99 55 44
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(Par: 72 , 6539yard)
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